mean # PXL hits vs eta

<pixel hits> [

Ratio

T

S AR SRS S R R

0.95

mean #

PXL Layers with measurement vs eta

B
a1

3.5

<pixel layers> [

2.5

N
|Illlllllllllllllllﬂlllll

o

.....................................................................

.....................................................................

Ratio

0.95

3

mean # STRIP hits v

<strip hits> [

;

M
M
M
M
M

original_originalvector_100Uevl

—original—1000evt
fitted4 _TO000evt

it_nocpe _1000evt

—f
—fit_ cpeOK” 1000evt

a
IIII|IIII|IIII|IIII|IIII|II

=
TTT T[T rIT1

--------- R

W rrrrJrrrrr

0.95

<strip layers>

P S S S T —

S0 e

S T

ettt

Ratio

~—d

0.95

wllll!llll




	Contents
	Page 1


